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Math 61 Fall 2007 QUIZ #4 @ 30 points Name:

Write in a neat and organized fashion. Use a pencil. Show all work to get credit.

1. In the given figure, name: - C e

a) four radii 0/4'; oc > os » OJ

b) two diameters A—g 5 C J '
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€) one secant € Kk

~ 2. Use the figure to answer the questions.
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‘ a) Name two angles congruent to ZKJE .
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b) Name two angles congruent to ZJCM .
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3. Given: DE=12, EC=5, AE=8

Find: EB. _ i
C S olbirn

A eB= cE ED

f‘é’/ﬁ: 5 /2
g - SRS
D L2 l

—

é,/g: 7S

@) 5_0 &&0(([’:7 M///f{( 473/)(? =€
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5. Prove the following theorem using a formal proof. Make a drawing and state the hypothesis (given) and
conclusion(to prove) using math notation pertinent to your drawing — that is, do not state the hypothesis and
conclusion in words!

If two chords in a circle are congruent, then their arcs are congruent.
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6. Given ©O with mZAOB=50" and OA=5cm,

find the following (exact answers) and use correct units:

a) mAB m<4904 = wﬁg [a«ifwistj
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¢) Circumference of the circle
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d) Area of the c1rc1e - e
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Given: 4B = BC

Prove: mZBPC = %(m;l—l\? - m@)

(formal proof).A
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